Contoura Seating Shroud Covers

>
&<
2 0
-
[271]
£5
© -
37T
ar
£o

c
25
c

o2
(O]



Contoura Seating Shroud Covers

Item

Number | Note Part Number

Description

Quantity Per

Package

Assembly

1

@CDCO\IOU'I#OO'S@COOJ\ICDU‘I#I\J

'—\
© o

11

A 1125705

B 1125728-NLA

C 1125704-NLA
1090197
1114308

NLA - Kit, Controller and Seat Frame Shroud
Covers with Hardware

NLA - Cover, Back, Controller Shroud

Screw, Button Head w/ Patch (1/4-20 x 1/2")
T-Nut (1/4-20)

NLA - Screw, Phillips Pan Head (#6-32 x 1-1/8")
NLA - Nut, Hex Lock (#6-32)

NLA - Bracket, Shroud, Black - Right

NLA - Bracket, Shroud, Black - Left

Fastener, Dual Lock (1/2" W x 7/8" L)

NLA - Cover Assembly, Seat Frame Shroud

Kit, Controller Shroud Mounting Hardware
Screw, Button Head w/ Patch (1/4-20 x 1/2")
T-Nut (1/4-20)

NLA - Screw, Phillips Pan Head (#6-32 x 1-1/8")
NLA - Nut, Hex Lock (#6-32)

NLA - Bracket, Shroud, Black - Right

NLA - Bracket, Shroud, Black - Left

Fastener, Dual Lock (1/2" W x 7/8" L)

NLA - Cover Assembly, Seat Frame Shroud
Fastener, Dual Lock (1/2" W x 7/8" L)

Screw, Phillips Pan Head Tap (#10-32 x 1/2")

1

PR RPRRPRRPRPRPRRPRPRRPRRPRPRPRRPRERRLRRERER

1

NDAPFPPRAPPFPDNMNNMNNPARPRPPORPPEPNMNNDNAPRE

NOTE:

A - Includes items 2, 4-10
B - Includes items 4-9

C - Includes Shroud Cover, items 9 and 11




